' o fire desimaler, operasjonsrekkefalge med
2O A Dy perjomeelly

parenteser
StudentName: ExamDate: ExamScore:
2,4-6,23,8—3,5)= 2,4+4,94,5-6,7)=
(6,5+6,9)x3,2-6,1= 36(3,7—6,1)+ 6=
20(5,4+4,1)+4= 4+2+6,8)x5,2=
(3,2+6,3)x2,2-2,9= 5,2-6,85,8+2,1)=
(3,6 +3,2)x3,6+4,4= 3,5+4,52,4—-3,2)=
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' 2 @ fire desimaler, operasjonsrekkefolge med
@ é Hi?j:? parenteser

StudentName: ExamDate: ~ ExamScore:
2,4-6,2(3,8—3,5)=0.54 2,4+4,94,5—-6,7)= —8.38
(6,5+6,9)x3,2—-6,1=36.78 36(3,7—-6,1)~6=—-144
20(5,4+4,1)+4=475 (4+2+6,8)x5,2=45.76
(3,2+6,3)x2,2—-2,9=18 5,2—6,8(5,8+2,1)=—48.52
(3,6 +3,2)x3,6+4,4=28.88 3,5+4,52,4—3,2)=—0.1
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